AP63590

STEP C/ASY/35/0SS/26.125

Description




L ]
T P 3
/

Item No. Part No. Qty. Description
1 RAP63589 1 STEP FRAMEWORK MTG
2 RAP63581 1 STEP C/MEC/3S/0SS/26.125




3 RP55701 MTG CYL PVT
4 RP55921 STOP CYL ROD
4A P55921 STOP CYL ROD
4B H113706 HEX NUT 3/8-16 JAM PLD
4C H131037 WSHR FLAT 3/8 PLD
5 RP44161 PIN 0.375 X 1.800
5A P44161 PIN 0.375 X 1.800
5B S-5133-37-ZD SNAP RING PLATED
6 RAP55558 CYL ASSY 0.750 X 24.750 STEP
6A AP55558 CYL ASSY 0.750 X 24.750
6B S-5133-37-ZD SNAP RING PLATED
7 RAP14079 SW LIMIT MAGNETIC
7A AP14079 SW LIMIT MAGNETIC N.O.
7B H114305 HEX NUT 7/16-20 SER FLG
7C H131037 WSHR FLAT 3/8 PLD
8 RAP59080 LED LIGHT STRIP ASSY 24"
9 RAP59110 MAN STEP/C 2500 PSI
9A AP59110 MAN STEP/C 2500 PSI
9B H102527 HHCS 1/4-20 2.75 GR5 PLD
9C H112501 1/4-20 HEX NUT
9D H122504 LOCK WSHR 1/4 INT SS
10 RP60057 AL EXTR LED LIGHT 24.000




10A P60057 AL EXTR LED LIGHT 24.000
10B P58217 CLIP ATTACH DT REC
10C P8409 RIVET 5/32 SS

11 RP55908 STRIP 1.8X30.750 DRL

12 H103107 HHCS 5/16-18 X 0.750 GR5 PLD

13 H113102 HEX NUT 5/16-18 PLD

14 H123104 WSHR LOCK 5/16 INT SS

15 RAP48865 HOSE AP 03X012" (NOT SHOWN)

16 RAP51975 HOSE AP 03X030" (NOT SHOWN)

17 RAP59751 PGTL STEP PSW 2' (NOT SHOWN)

18 RAP59994 HARN LED LIGHT PWR (NOT SHOWN)




